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 : (1) -I     . 
  (2) -II  . 5  . 
 

 – I 

1.    x, y  z     .        : 20 

 
   

x y z 
   (  ` 30 ) 10,000 – – 

  (`) 60,000 2,49,000 1,43,000 

  (`) 40,000 50,000 60,000 

  (   %) 5% 10% 10% 

    (`) 10 20 30 

  () 9,500 8,500 7,700 

    ` 3,00,000         
 . 

 
2.  .               . 

  , 2021   : 20 

 
 – 1  – 2   

  
` ` ` 

  30,000 36,000 90,000 

  60,000 63,000 – 

  44,800 45,000 – 

   42,000 18,000 – 

  14,800 18,000 45,000 

   
   

                             
– 

                          
6,000 

                    
33,000 



MI-114 2  

 -1  -2    25%        . 
-2        20%       
 .        .    -2 
         .     ` 6,00,000 . 

   : 
 (1)   
 (2)     
 (3)          
 
3.  .   .  . 1-4-2021         

     .     .   . 31-3-2021 
      : 20 

   .  . 
I.    :  ` ` 

 (1)   :    

  (a)  :     

      ` 10  
   

                
8,00,000 

             
5,00,000 

   12%    ` 100 
  

              
6,00,000 

             
3,00,000 

  (b)    :    

      3,00,000 2,00,000 

       30,000 20,000 

   -   2,00,000 1,50,000 

 (2)    :    

     :    

   12%   2,50,000 2,00,000 

 (3)    2,20,000 1,30,000 

     :  24,00,000 15,00,000 

II.  :    

 (1)    :    

  (a)   :    

      20,00,000 12,00,000 

  (b)     1,00,000 50,000 

 (2)    3,00,000 2,50,000 

     :  24,00,000 15,00,000 
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   : 
 (1)         .  14%                  

` 110   . (  ` 100). 
 (2)         .    ` 13 

  ,    ` 10 . 
 (3)  .   .  12%    .  ` 100   

15%           . 
 (4)     2     . 
             .  . 1-4-2021   

   : 
  (A)     

  (B)     

 

4. (A)            . 10 

 (B)      . 10 

 

 – II 

5.     : (  ) 10 

 (1)      ______  . 
  (a)   (b) -  
  (c)   (d)     

 

 (2)       ? 

  (a)  (b)  

  (c)   (d)    
 

 (3) ______            . 
  (a)   (b)   

  (c)     (d)     

 

 (4)     ` 1,00,000 .     20%    
     ? 

  (a) ` 20,000 (b) ` 25,000 

  (c) ` 50,000 (d)     
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 (5)  A   B      ` 1,80,000    
 ` 45,000  .        ? 

  (a) 25%  (b) 33
1
3 %  

  (c) 40%  (d)     

 
 (6)             

     ? 

  (a)   (b)   

  (c)   (d)     

 
 (7)   +  = ______ 

  (a)   (b)   

  (c)   (d)     

 
 (8)           _____ . 
  (a)   (b)  
  (c)   (d)     

 
 (9)      ______   . 
  (a)   (b)  

  (c)  (d)     

 
 (10)           _____   . 
  (a)    (b)  

  (c)   (d)     

 
 (11)       = _____. 
  (a)    (b)    

  (c)    (d)     

 
 (12)          ______   . 
  (a)  (b)  

  (c)  : (d)     

___________ 
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Time : 2 Hours]  [Max. Marks : 50 

Instructions : (1) Attempt any two questions from Section – I. 
   (2) Question – 5 of Section – II is compulsory. 
 

SECTION – I 
1.  A product passes through three processes x, y and z. From the following information, 

prepare process Accounts. 20 

Particulars 
Process 

x 
Process 

y 
Process 

z 

Units introduced (at ` 30 per unit) 10,000 – – 
Direct Material (`) 60,000 2,49,000 1,43,000 
Direct Labour (`) 40,000 50,000 60,000 
Normal Wastage (% of inputs) 5% 10% 10% 
Selling price of normal wastage (per unit) (`) 10 20 30 
Actual production (units) 9,500 8,500 7,700 

 Production overheads are ` 3,00,000, which are distributed among all the three 
processes in the ratio of direct labour. 

 
2. A certain product of Misha Ltd. passes through two processes before it is transferred to 

finished stock. The following information is obtained for the month of March, 2021 : 20 

Particulars 
Process  

1 
Process  

2 
Finished 

Stock 

` ` ` 
Opening Stock 30,000 36,000 90,000 
Direct Materials 60,000 63,000 – 
Direct Wages 44,800 45,000 – 
Factory Overheads 42,000 18,000 – 
Closing Stock 14,800 18,000 45,000 
Inter process profit included 
in opening stock 

                              
– 

                          
6,000 

                    
33,000 
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 Output of Process 1 is transferred to Process 2 at 25% profit on the transfer price. 
Output of process 2 is transferred to finished stock at 20% profit on the transfer price. 
Stocks in process are valued at prime cost. Finished stock is valued at the price at which 
it is received from Process 2. Sales during this period is ` 6,00,000. 

 Prepare : 
 (1) Process Accounts 
 (2) Finished Stock Account 
 (3) Statement showing total profit and unrealised profit 
 
3. Pandya Ltd. and Patel Ltd. were amalgamated on and from 1-4-2021. A new company 

Pandit Ltd. was formed to take over the business of existing companies. 
  Following are the Balance Sheets of the two companies as on 31-3-2021 : 20 

Particulars Note Pandya Ltd. 
` 

Patel Ltd. 
` 

I. Equity and Liabilities :    
 (1) Shareholder’s Fund :    
  (a) Share Capital :     
   Equity share capital of ` 10 each 

fully paid up 
                

8,00,000 
             

5,00,000 
   12% Preference shares of ` 100 

each fully paid up 
              

6,00,000 
             

3,00,000 
  (b) Reserves & Surplus :    
   General Reserve  3,00,000 2,00,000 
   Investment Allowance Reserve  30,000 20,000 
   Profit & Loss A/c  2,00,000 1,50,000 
 (2) Non-Current Liabilities :    
  Long term Borrowings :    
   12% Debentures  2,50,000 2,00,000 
 (3) Current Liabilities   2,20,000 1,30,000 
    Total :  24,00,000 15,00,000 
II. Assets :    
 (1) Non-Current Assets :    
  (a) Fixed Assets :    
   Tangible Assets  20,00,000 12,00,000 
  (b) Non-current Investments  1,00,000 50,000 
 (2) Current Assets   3,00,000 2,50,000 
    Total :  24,00,000 15,00,000 

 Additional Information : 
 (1) Preference shareholders of the two companies are issued equivalent number of 

14% preference shares of Pandit Ltd. at a price of ` 110 per share (face value ` 
100). 

 (2) Equity shareholders of the two companies are issued equivalent number of equity 
shares of Pandit Ltd. at a price of ` 13 each having face value of ` 10 each. 
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 (3) 12% Debentures of Pandya Ltd. and Patel Ltd. are discharged by Pandit Ltd. 
issuing such number of its 15% Debentures of ` 100 each so as to maintain the 
same amount of interest. 

 (4) Investment allowance reserve is to be maintained for 2 more years. 

   Assuming that the amalgamation is in the following two forms, prepare balance 
sheet of Pandit Ltd. as on 1-4-2021 : 

  (A) The amalgamation is in the form of merger.  

  (B) The amalgamation is in the form of purchase. 

 

4. (A) Write journal entries in the books of the purchasing company on absorption with 
imaginary figures. 10 

 (B) Write a note on Intrinsic value of shares. 10 
 

SECTION – II 

5. Choose the correct option : (any five) 10 
 (1) In process costing abnormal loss is debited to ______. 
  (a) Trading A/c (b) Profit and Loss A/c 
  (c) Process A/c (d) None of these 
 
 (2) Which item is not recorded in process Account ? 
  (a) Material (b) Donation 
  (c) Wages (d) Factory overheads 
 
 (3) ______ is unavoidable loss arising due to the nature of material or the process. 
  (a) Abnormal wastage (b) Normal wastage 
  (c) Abnormal Gain (d) None of these 
 
 (4) Production cost of first process is ` 1,00,000. If profit is added at 20% on transfer 

price what will be the amount of profit ? 
  (a) ` 20,000 (b) ` 25,000 
  (c) ` 50,000 (d) None of these 
 
 (5) Transfer price from process A to process B is ` 1,80,000 which includes inter 

process profit of ` 45,000. What will be the percentage of profit on cost ? 

  (a) 25%  (b) 33
1
3 %  

  (c) 40 %  (d) None of these 
 
 (6) In the equivalent production of process Account, which statement is to be 

prepared to find out material cost per unit ? 
  (a) Statement of Evaluation (b) Statement of Cost 
  (c) Process Account (d) None of these 
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 (7) Net Assets + Goodwill = ______. 
  (a) Purchase consideration (b) Capital Reserve 
  (c) Total Assets (d) None of these 
 
 (8) If purchase consideration is less than net assets, the amount of difference is _____. 
  (a) Capital Reserve (b) Goodwill 
  (c) Dissolution expense (d) None of these 
 
 (9) Shares received from the new company are recorded at ______. 
  (a) Market value (b) Face value 
  (c) Average price (d) None of these 
 
 (10) When liquidation expenses is paid and borne by seller company, then it is debited 

to _____ 
  (a) Realisation A/c (b) Bank A/c 
  (c) Goodwill A/c (d) None of these 
 
 (11) Net Assets  No. of Equity shares = _____. 
  (a) Intrinsic value of shares (b) Yield value of shares 
  (c) Face value of shares (d) None of these 
 
 (12) When company purchases the business of another company ______ comes into 

existence. 
  (a) Absorption (b) Amalgamation 
  (c) External Reconstruction (d) None of these 

___________ 
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 : (1) -I     . 
  (2) -II  . 5  . 
 

 – I 

1.    x, y  z     .        : 20 

 
   

x y z 
   (  ` 30 ) 10,000 – – 

  (`) 60,000 2,49,000 1,43,000 

  (`) 40,000 50,000 60,000 

  (   %) 5% 10% 10% 

    (`) 10 20 30 

  () 9,500 8,500 7,700 

    ` 3,00,000         
 . 

 
2.  .               . 

  , 2021   : 20 

 
 – 1  – 2   

  
` ` ` 

  30,000 36,000 90,000 

  60,000 63,000 – 

  44,800 45,000 – 

   42,000 18,000 – 

  14,800 18,000 45,000 

   
   

                             
– 

                          
6,000 

                    
33,000 
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 -1  -2    25%        . 
-2        20%       
 .        .    -2  
         .     ` 6,00,000 . 

   : 
 (1)   
 (2)     
 (3)          
 
3.  .   .  . 1-4-2021         

     .     .   . 31-3-2021 
      : 20 

   .  . 
I.    :  ` ` 

 (1)   :    

  (a)  :     

      ` 10  
   

                
8,00,000 

             
5,00,000 

   12%    ` 100 
  

              
6,00,000 

             
3,00,000 

  (b)    :    

      3,00,000 2,00,000 

       30,000 20,000 

   -   2,00,000 1,50,000 

 (2)    :    

     :    

   12%   2,50,000 2,00,000 

 (3)    2,20,000 1,30,000 

     :  24,00,000 15,00,000 

II.  :    

 (1)    :    

  (a)   :    

      20,00,000 12,00,000 

  (b)     1,00,000 50,000 

 (2)    3,00,000 2,50,000 

     :  24,00,000 15,00,000 
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   : 
 (1)         .  14%                  

` 110   . (  ` 100). 
 (2)         .    ` 13 

  .    ` 10 . 
 (3)  .   .  12%    .  ` 100   

15%           . 
 (4)     2     . 
              .  . 1-4-2021   

   : 
  (A)     

  (B)     
 
4. (A)          : 10 

  `  ` 
2020 2,70,000 6,000 
2021 3,00,000 15,000 

        : 
  (1) .. (- ) 
  (2)   
  (3)   
  (4) ` 45,000      
  (5) ` 15,000     

 (B)   “ ” . 10 
 

 – II 

5.     : (  ) 10 

 (1)      ______  . 
  (a)   (b) -  
  (c)   (d)     
 
 (2)       ? 

  (a)  (b)  

  (c)   (d)    
 
 (3) ______            . 
  (a)   (b)   

  (c)     (d)     
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 (4)     ` 1,00,000 .     20%    
     ? 

  (a) ` 20,000 (b) ` 25,000 
  (c) ` 50,000 (d)     
 

 (5)  A   B      ` 1,80,000    
 ` 45,000  .        ? 

  (a) 25%  (b) 33
1
3 %  

  (c) 40%  (d)     
 

 (6)             
     ? 

  (a)   (b)   

  (c)   (d)     
 

 (7)   +  = ______ 

  (a)   (b)   

  (c)   (d)     
 

 (8)           _____ . 
  (a)   (b)  
  (c)   (d)     
 

 (9)      ______   . 
  (a)   (b)  

  (c)  (d)     
 

 (10)  = ______  
  (a)   –   (b)   +   
  (c)   +   (d)     
 

 (11)  -  50% ,   40%    ` 5,00,000 
       ? 

  (a) ` 1,50,000 (b) ` 2,50,000 

  (c) ` 3,00,000 (d)     
 

 (12)     ` 42     ` 50 .      
2          ? 

  (a) ` 4  (b) ` 8 

  (c) ` 25  (d)     

___________ 
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B.Com., Sem.-V 

CE-301 (A) : Cost and Financial Accounting 

(Old Course) 
 

Time : 2 Hours]  [Max. Marks : 50 

Instructions : (1) Attempt any two questions from Section – I. 
   (2) Question – 5 of Section – II is compulsory. 
 

SECTION – I 

1.  A product passes through three processes x, y and z. From the following information, 
prepare process Accounts : 20 

Particulars 
Process Process Process 

x y z 
Units introduced (at ` 30 per unit) 10,000 – – 
Direct Material (`) 60,000 2,49,000 1,43,000 
Direct Labour (`) 40,000 50,000 60,000 
Normal Wastage (% of inputs) 5% 10% 10% 
Selling price of normal wastage (per unit) (`) 10 20 30 
Actual production (units) 9,500 8,500 7,700 

 Production overheads are ` 3,00,000, which are distributed among all the three 
processes in the ratio of direct labour. 

 
2. A certain product of Misha Ltd. passes through two processes before it is transferred to 

finished stock. The following information is obtained for the month of March, 2021. 20 

Particulars 
Process  

1 
Process  

2 
Finished 

Stock  

` ` ` 
Opening Stock 30,000 36,000 90,000 
Direct Materials 60,000 63,000 – 
Direct Wages 44,800 45,000 – 
Factory Overheads 42,000 18,000 – 
Closing Stock 14,800 18,000 45,000 
Inter process profit included 
in opening stock 

                              
– 

                        
6,000 

                    
33,000 
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 Output of Process 1 is transferred to Process 2 at 25% profit on the transfer price. 
Output of process 2 is transferred to finished stock at 20% profit on the transfer price. 
Stocks in process are valued at prime cost. Finished stock is valued at the price at which 
it is received from process 2. Sales during this period is ` 6,00,000. 

 Prepare : 
 (1) Process Accounts 
 (2) Finished Stock Account 
 (3) Statement showing total profit and unrealised profit 
 
3. Pandya Ltd. and Patel Ltd. were amalgamated on and from 1-4-2021. A new company 

Pandit Ltd. was formed to take over the business of existing companies. 
  Following are the Balance Sheets of the two companies as on 31-3-2021 : 20 

Particulars Note Pandya Ltd. 
` 

Patel Ltd. 
` 

I. Equity and Liabilities :    
 (1) Shareholder’s Fund :    
  (a) Share Capital :     
   Equity share capital of ` 10 each 

fully paid up 
                

8,00,000 
             

5,00,000 
   12% Preference Shares of ` 100 

each fully paid up 
                    

6,00,000 
                

3,00,000 
  (b) Reserves & Surplus :    
   General Reserve  3,00,000 2,00,000 
   Investment Allowance Reserve  30,000 20,000 
   Profit & Loss A/c  2,00,000 1,50,000 
 (2) Non-Current Liabilities :    
  Long term Borrowings :    
   12% Debentures  2,50,000 2,00,000 
 (3) Current Liabilities   2,20,000 1,30,000 
    Total :  24,00,000 15,00,000 
II. Assets :    
 (1) Non-Current Assets :    
  (a) Fixed Assets :    
   Tangible Assets  20,00,000 12,00,000 
  (b) Non-current Investments  1,00,000 50,000 
 (2) Current Assets   3,00,000 2,50,000 
    Total :  24,00,000 15,00,000 

 Additional Information : 
 (1) Preference shareholders of the two companies are issued equivalent number of 

14% preference shares of Pandit Ltd. at a price of ` 110 per share (face value ` 
100). 

 (2) Equity shareholders of the two companies are issued equivalent number of equity 
shares of Pandit Ltd. at a price of ` 13 each having face value of ` 10 each. 
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 (3) 12% Debentures of Pandya Ltd. and Patel Ltd. are discharged by Pandit Ltd. 
issuing such number of its 15% Debentures of ` 100 each so as to maintain the 
same amount of interest. 

 (4) Investment allowance reserve is to be maintained for 2 more years. 

   Assuming that the amalgamation is in the following two forms, prepare balance 
sheet of Pandit Ltd. as on 1-4-2021 : 

  (A) The amalgamation is in the form of merger.  

  (B) The amalgamation is in the form of purchase. 

 

4. (A) The result of the last two years of Gaurang Ltd. are as under, 10  

Year 
Sales Profit 

` ` 

2020 2,70,000 6,000 

2021 3,00,000 15,000 

  Find out the following from the above information : 

  (1) P.V. Ratio (Profit Volume Ratio) 

  (2) Fixed expenses 

  (3) Break-even point 

  (4) Required Sales to earn profit of ` 45,000 

  (5) Sales when losses are ` 15,000  

 (B) Explain “Key Factor” in Marginal Costing. 10 
 

SECTION – II 

5. Choose the correct option : (any five) 10 
 (1) In process costing abnormal loss is debited to ______ 
  (a) Trading A/c (b) Profit and Loss A/c 
  (c) Process A/c (d) None of these 
 
 (2) Which item is not recorded in process Account ? 
  (a) Material (b) Donation 
  (c) Wages (d) Factory overheads 
 
 (3) ______ is unavoidable loss arising due to the nature of material or the process. 
  (a) Abnormal wastage (b) Normal wastage 
  (c) Abnormal Gain (d) None of these 
 
 (4) Production cost of first process is ` 1,00,000. If profit is added at 20% on transfer 

price, what will be the amount of profit ? 
  (a) ` 20,000 (b) ` 25,000 
  (c) ` 50,000 (d) None of these 
 



MI-114 16  

 (5) Transfer price from process A to process B is ` 1,80,000 which includes inter 
process profit of ` 45,000, what will be the percentage of profit on cost ? 

  (a) 25%  (b) 33
1
3 %  

  (c) 40 %  (d) None of these 
 
 (6) In the equivalent production of process Account, which statement is to be 

prepared to find out material cost per unit ? 
  (a) Statement of Evaluation (b) Statement of Cost 
  (c) Process Account (d) None of these 
 
 (7) Net Assets + Goodwill = ______. 
  (a) Purchase consideration (b) Capital Reserve 
  (c) Total Assets (d) None of these 
 
 (8) If purchase consideration is less than net assets, the amount of difference is _____. 
  (a) Capital Reserve (b) Goodwill 
  (c) Dissolution expense (d) None of these 
 
 (9) Shares received from the new company are recorded at ______. 
  (a) Market value (b) Face value 
  (c) Average price (d) None of these 
 
 (10) Contribution = ______. 
  (a) Selling Price – Variable Cost (b) Selling Price + Variable Cost 
  (c) Fixed Cost + Variable Cost (d) None of these 
 
 (11) If P.V. Ratio is 50%, margin of safety is 40% and sales is ` 5,00,000. How much 

will be the Fixed Cost ?  
  (a) ` 1,50,000 (b) ` 2,50,000 
  (c) ` 3,00,000 (d) None of these 
 
 (12) Variable cost of one item is ` 42 and selling price is ` 50. For manufacturing of 

one unit 2 kgs of raw material is used. Find out the contribution per kg. of material 
  (a) ` 4  (b) ` 8 
  (c) ` 25  (d) None of these 

___________ 
 


